SMB®
TYPE SPRING MOUNT
(HHHQ| : 25mm) KS B 1563(2HH)

EEr

LMY ADZORER M 52| 5tRE Atojof] AZ0| §X|5tD SHESHR
o= WFHE HOLEO| 7+=E/0 U1 A StRE0E=E TAP7ES0| Eof U
HHEES} HER FYE HUEAHE EEE MET 4 ULt sHESHREQ| Ht
Holls oo HEsME 2= ADgo| HEZ Helsh| st S&e 2 CR
AE2| PAD7} E&I%|0] QUCt

(NOTE : L& Am2l 0R2E & SMBE KS 615 72, HMBE KS 2| 515 #20f I HEY)

O0OeY ©

S EREE

— 7
==1K %@3 @ﬁgt‘) No. E9 A 3
~ T w— 1 Non Skid Pad CR KS M 6617
2 Lower Housing GC KS D 4301
SMB-A~C TYPE SUPY KS B 2402
3 Coil Spring
HSW3 KS B 2403
4 Anti-Frictioner SPONGE -
5 Spring Cap $S400 KS B 1002
6 Upper Housing GC KS D 4301
7 Level Bolt SS400 KS B 1002

HEQ 2=

o HI 37|, SmM, LT[ 4TS
e 537191 T8 e V|9 HTE
e 7|E} ~EHIZ0| 2 FH[o| YT
SMB-D TYPE
DIMENSION & SELECTION GUIDE BY LOADS
e xNgsks | Azz ua| = aiar Dimension(mm)
(kef) | (kgf/mm) | (ko) A B c D H Level Bolt
SMB-A-10 10 0.4 1.16 Pink
SMB-A-25 25 1.0 1.20 Yellow
SMB-A-50 50 2.0 1.34 Red 139 17 55 12 102 M10 x 60
SMB-A-75 75 3.0 1.34 Black
SMB-A-100 100 4.0 1.30 Blue
SMB-B-100 100 4.0 3.64 Blue
SMB-B-150 150 6.0 3.64 Brown
SMB-B-200 200 8.0 3.70 White 205 170 76 13 135 M12 x 65
SMB-B-300 300 12.0 394 | Orange
SMB-B-400 400 16.0 3.86 Pink
SMB-C-400 400 16.0 5.10 Pink
SMB-C-500 500 20.0 6.00 Green
SMB-C-600 600 24.0 6.06 Blue 228 205 90 13 150 M16 x 80
SMB-C-750 750 30.0 6.14 Black
SMB-C-1000 1000 40.0 6.32 Yellow
SMB-D-1200 1200 48.0 13.38 Blue
SMB-D-1500 1500 60.0 13.54 Black 306 217 94 14 170 M16 x 80
SMB-D-2000 2000 80.0 13.88 | Yellow

(NOTE) 2 7 & xI&= MEQ| 45 ¥ ETVHME 2l AR ol glo] HE & & UL




100
——SMB-A-100
2 ——SMB-A-150 €
g 10 £
= ——SMB-B-100 z
o) [7]
= 1 ——SMB-B-150 $
\ ——SMB-B-200 £
[
- ——SMB-B-300 g
@©
~~——_ SMB-C-500 £
—— || —smB-C-750
——SMB-C~1000
0.001
0 10 20 30 40 50
Frequency[ Hz]
St5-H12l Graph
14 000
——SMB-A-100
12 000 ——SMB—A-150 ¥
10 000 ——SMB-B-100 g
[}
Z g 000 ——SMB-B-150 3
3 ——SMB-B-200 i
6 000 o
- ——SMB-B-300 <
o / SMB-C-500 g
2 000 ——SMB-C-750 e
—
]
0 % ——SMB-C~1000

0 10

SUPPLY AR

>

FRESH AR EXHAUST AIR RETURN AIR

V2 n v

il

oft
oN

94 Graph

1 000

(=3
o

——SMB-A-100

——SMB-A-150

——SMB-B-100
——SMB-B-150

—— SMB-B-200

——SMB-B-300

SMB—-C-500
——SMB-C-750
—— SMB—-C—1000|

10 20 30 40 50
Frequency[ Hz]

HRIE QAAR

1 000

o
o

5]

A AR A

5 10 20
Natural Frequency of the System[Hz]

30 40 50

XA HlojA

SMB AZZ OIRE

[t~ (E=H: 25mm)

AR

Xtx|| #lo]A
SMB AZZ OIRE
(B=HL|: 25mm)

VP {@md gxl e
(=L 6mm)




